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1- Find each of the following in its simplest form:
(a)i101 (b) i_32 (C) i4n+17 (d) i2026

2- Find in R the solution set of the equation: x2+ 16 =10

3- Find in C the solution set of the equation: @ 4x2+36=0
@ ;x2+64=0

4- Find the values of x, y: (3x +1) +4yi=7-20i

5- Which of the following angles is in the standard position and explain your

answer?
(2) (b) ©) (d)
y“ yu y“ y“
X <—A X X< > ¥ X < j > ¥ X< >
)\, 4 }\,v yv }‘/"

(1)
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6- In the opposite figure:
Which of the following directed angles is in its standard position? Explain your

answer.
N
@) (04 , 0D) 2’
() (OF , OD )
© (4B , AC") \ v O
(d (OE , OD )
(e} (0D , OF ) x — S
® (0B , OF ) G 0 A% B
j; A 4

7- Write the following angles using ordered pairs:
(a) (£ AOB) (b) (£ABC)

8- Draw a directed angle in standard position with measure 70°

S- If the polygon ABCD ~ the polygon XYZL
(a) Write the corresponding sides
(b)  Write the corresponding angles

10- If the polygon ABCD ~ the polygon XYZL, AB = 6 cm.
BC=8cm. XY=k+2,YZ=12 cm. find the volue of k
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11- If AABC ~ A DEX ,the perimeter of AABC = 24 cm.
DE =20 cm. EX = 15cm. XD = 13 cm.
find the length of the sides of A ABC

12- Two similar polygons, the ratio between the lengths of two corresponding
sides is 2: 3, the perimeter of the bigger equals 35 cm., then the perimeter of

the smaller polygon.

13- Two similar rectangles, the dimensions of the firstare 8 cm., 12 cm. and
the perimeter of the second rectangle = 60 cm. find the lengths of two
dimensions of the second rectangle

14- In the opposite figure:
the polygon ABCD ~ the polygon LXYZ L

m(2B)=68 ,m(4L)= 76 A
BC =4cm. ,CD = 3 cm. 7
XY=k—-3,YZ=12 cm. D
Find(@m(zA), m(42X)
(b) the value of K - »
% 2 68°
X ¢ 4em. B

Y (k-3)cm.

15- If the polygon ABCD ~ the polygon XYZL ,AB =4 cm. ,
BC=10cm. XY =k ,YZ =2k + 3 cm. find the value of k

(3)
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1- Find each of the following in its simplest form:

(b) i2008 (b) l-—21 (C) l-4n+19 (d) i37

2- Find in R the solution set of the equation:  5x% + 100 =0

3- Find in C the solution set of the equation: ® 2x%+72 =10

@ 2y?+10=0

4- Find the values of x, y: (3x +2) + 4yi=5-16i

5- Which of the following angles is in the standard position and explain your

answer?

(b) (c) (d)

=
=
=
A
v
=
=
A
v
=
=
A
v
=

(4)
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6- In the opposite figure:

Which of the following directed angles is in its standard position? Explain your
answer.

@) (04 , oD)
() (OF , OF)

0 (0E , OF)
d) (04 , OE)
) (oc , oD) v <
() (0B , OD)

7- Write the following angles using ordered pairs:
(a) (4XYL) (b) (4ZED)

8- Draw a directed angle in standard position with measure 120’

S- If the polygon LYNZ ~ the polygon ABCD
(a) Write the corresponding sides
(b)  Write the corresponding angles

10- If the polygon ABCD ~ the polygon XYZL
,AB= 54cm. ,BC=30cm. XY =_02m-1) ,
YZ=(m+1) cm. find the volue of m
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11- If AABC ~ ADEX ,the perimeter of ADEX = 60 cm. ,
AB =14 cm. BC = CA =8cm.
Find the length of the sides of A DEX

12- Two similar polygons, the ratio between the lengths of two corresponding
sidesis 4:5, the perimeter of the bigger equals 35 cm.,
then the perimeter of the smaller polygon.

13- Two similar rectangles, the dimensions of the first are 6 cm., 10 cm. and the
perimeter of the second rectangle = 40 cm. find the lengths of two dimensions of

the second rectangle

14- In the opposite figure:
the polygon ABCD ~ the polygon LXYZ L

m(2zB)= 68 ,m(z2L)= 75 fo-
,\\Q
¥

BC =4cm. ,CD = 3 cm.

XY=k—-3,YZ=12 cm.

Find(@m(z2A), m(42X)
(b) the value of k

Y 15 em. X C 5 cm.

15- If the polygon ABCD ~ the polygon XYZL ,if the ratio betwee
their perimeters equals 3 : 1 recpectively XY =k cm,
AB = (2 k+3) cm. find the value of k



